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This is an example interaction plot that demonstrates how to interpret the model effects for Figure 3 in the 
presence of interaction terms. For the example, we use the comparison between pooled CCTs and UCTs versus 
the Controls. The average age difference for Controls at R2 is the intercept (Average age difference = 2.59) of 
the model presented in Figure 3 of the main manuscript. The average age difference for Controls at R3 is the 
intercept plus the estimate for the time effect (2.59 + 0.82). The average age difference for pooled CCTs and 
UCTs at R2 is the intercept plus the estimate for CCTs and UCTs vs Controls at R2 (2.59 - 0.43). Finally, the 
average age difference for the pooled CCTs and UCTs at R3 is the addition of the intercept, the estimate for 
CCTs and UCTs vs Controls at R2, the estimate for the time effect, and the estimate for the interaction term 
(2.59 - 0.43 + 0.82 + 0.29).  

	


